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اًٌٍ يحًذ خضٍز . د  
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NOT GATE 

2 

A NOT gate accepts one input signal (0 or 1) and returns the  

complementary (opposite) signal as output. 

  

 
يٍ أبسط إَٔاع انبٕابات انًُطقٍة ٔجعُزَف بانًحٕلّ أٔ انعاكس بٕابة انُفً جعحبز 

ٔاحذ، ٔجقٕو بعكس انقًٍة انذاخهة فانصفز ٔيخزج  ٔنٓذِ انبٕابة يذخم ٔاحذ 
.ٌُعكس إنى ٔاحذ ٔانٕاحذ إنى صفز  

 
 



AND GATE 
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An AND gate accepts two input signals If both are 1, the output is 1; 

otherwise, the output is 0.  

 
انبٕابة يذخلاٌ ٔيخزج ٔاحذ ٔٔظٍفحٓا جعحًذ عهى ضزب بٕابة انضزب ٔنٓذِ  

جسأي ٔاحذًا فقط فً حال كاٌ انًذخلاٌ قًٍة انًخزج انًذخلات، حٍث جكٌٕ 
.نًٓا انقًٍة ٔاحذ  



OR GATE 
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An OR gate accepts two input signals If both are 0, the output is 0; 

otherwise, the output is 1. 

 
 قٍى جًع عهى جعًم حٍث ٔاحذ، ٔيخزج يذخلاٌ انبٕابة ٔنٓذِ انجًع بٕابة

 جسأي انًذاخم أحذ قًٍة كاَث حال فً ٔاحذ انًخزج قًٍة نحكٌٕ انًذخلات
 .ٔاحذًا



 XOR GATE 
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An XOR gate accepts two input signals If both are the same, the 

output is 0; otherwise, the output is 1.  

 يُٓا انخارج انُٓائً انُاجج قًٍة ٔجكٌٕ ٔاحذ، ٔيخزج يذخلاٌ انبٕابة ٔنٓذِ 
 .كلاًْا ٔنٍس ٔاحذ جسأي انًذخهٍٍ أحذ قًٍة كاَث حال فً ٔاحذًا جسأي



NAND GATE 
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The NAND (“NOT of AND”) gate accepts two input signals 

If both are 1, the output is 0; otherwise, the output is 1.  

 

 NOT  ًْٔا يُطقٍحٍٍ عًهٍحٍٍ بٍٍ ٔججًع ٔاحذ، ٔيخزج يذخلاٌ انبٕابة ٔنٓذِ

ٔ  AND بٕابة يٍ انُاججة انقًٍة َفً بعًهٍة جقٕو حٍث. 



NOR GATE 
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The NOR (“NOT of OR”) gate accepts two inputs If both are 0, 

the output is 1; otherwise, the output is 0.  

 َحاج ًْ يُٓا انخارجة انقًٍة أٌ حٍث ٔاحذ، ٔيخزج يذخلاٌ نٓا انبٕابة ْٔذِ 
 انقٍى عهى OR انجًع جطبٍق يٍ انُاججة انقًٍة عهى NOTانُفً عًهٍة جطبٍق

 .انٍٓا انذاخهّ



TRUTH TABLES  
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REVIEW OF GATE PROCESSING  
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COMBINATIONAL CIRCUITS 

10 

Gates are combined into circuits by using the output of one gate 

as the input for another. 

This same circuit using a Boolean expression is: 

AB + AC  

 



COMBINATIONAL CIRCUITS  
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Three inputs require eight rows to describe all possible input 

combinations  

 



COMBINATIONAL CIRCUITS  
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Consider the following Boolean expression A(B + C)  

 



COMBINATIONAL CIRCUITS  
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